Economic Models of Knowledge

Larry E. Jones

Abstract

November 1, 2004

"Research is a series of false starts... of believed insights followed by pro-
found confusion, and in the best cases, some small movement in the frontier of
knowledge at the end.” Unknown.

1 Cross Country Data

The idea here is to collect a standardized set of facts against which all models can be

compared.

What I would like is a Table Something like the following one:

Models: —-——

Cass-Koopmans

Ak

Ak, h)

Romer

Lucas

Other?

Country Heterogeneity | |

Initial Conditions

Technology

Preferences

Policy: Taxes

Policy: Spending

Policy: Inflation

Where in each entry of the Table, there is a further Table which looks like:




Data | Model

7

i — —
Y1060 VS- 76095 —
7 —
Yiogo VS 1 =7

Z —9
. VS. Y =!

£ vs. y =7
Educ. vs. y =7
Y, Vs. y =7
Y,, vs. v ="
This list is VERY incomplete, and just includes some of the things that I, person-
ally find interesting, and some things that everyone seems to include when they do

empirical studies of growth and development on cross sectional, country, data.

1.1 Data Table

I think that for the Data version, we would have:

Data Model
v =7 1.02 varied
% =7 1 to 50
w7 ~ 0.677
TFP =? varied
Yoo VS- Vao_g5 = no relationship
Yigso vs. Ri =7 | no relationship? (risk)
2 vs. y =" corr(%,y) > 07
Lvs. y =7 corr(%£,v) > 0?
Educ. vs. y =7 corr(Ed,y) > 07
YV VS. Y =7 corr(7,,y) < 07
Y, Vs, vy =7 corr(v,,y) < 07




2 The Cass-Koopmans Model and Implications for
Cross Country Heterogeneity

Here I outline the basics of the standard single sector growth model with exogenous
technological change and try to develop some simple predictions that the model has
for cross country observations for different sources of heterogeneity.

2.1 The Cass-Koopmans Model

Here the equilibrium version of the model is:

An equilibrium is:

a sequence of prices: {(p, re, we) 172,

Quantity decisions for the households: {(c;, k¢, 71)}520 = 272
Quantity decisions for the output firms: {(c/,zf,, kf ,nf) e, =2f, j=1,...,J
SUCH THAT:

1) zHH is the solution to:

Maz (e, keare,ne ey, Ut €)Z0)

subject to:

S0Pl +a) < 20 ek + weny] +11
ki1 < (1 —6p)ke + Tre

neg+ 6 <1,

ko fixed.

2) 2/ is the solution to:

Maz g o1 0 e 2820 [pt(ctf +xf,) = rik] —wm

{(cz, Lt oot T ) S t=

subject to: ¢f +zf, < B (k{)a (Amd)t—.



AND

Ct = ({

Tt = xit

ky =k

=37, {pt(C{ +af,) — ki — wtnﬂ

As is standard, assuming that F'is CRS and weakly concave, this equilibrium can
be found by following the planner’s problem:

Maz (e, om0y, Ul(ce €)iZ0)

subject to:

¢+ wp < BE(Agng )t

ki1 < (1 —Op)ke + Tre

ne+ 4 <1,

ko fixed.

Assuming that U(c, f) = >, ﬁtgli__—; v(0)

the first order conditions for a solution are:

Ue _ Us
1 Fyy

Uet = Uty [1 — 0p + Flypa]

or, given the specific functional forms,

Ber7v (6) (1— a) BAI™ [£5]" = s v/(ty)

l—0o

and,

_ 11—«
Be v () = ﬁ“lct_fﬂ} (le41) {1 — b+ aA%;? {l_ﬁt;u} }

kt+1
OR
@ 1_Zt v’ Zt
(1-a)(1-0)B [4]" = 4L
and,



o] wtta), _ g [1 — b+ aB(l — )70 [M}a_l]

a v(let1) A1
These, coupled with the feasibility constraints, renormalized, and at equality:
— B &)%)
S+ =BE -

kit A k
hud — (- a0k + 3

Are the necessary conditions that a solution must satisfy (and are sufficient with
the Transversality Condition).

2.1.1 Balanced Growth

In some cases, the solution to the equations have a stationarity propery. Assume
that A; = (1 + ¢)* and define new variables, k; = k:/(1 + g)%, & = /(1 + g)*, and
2kt = e/ (1 + g)'. Then, the equations above can be rewritten as:

(1—)(1—0)B [k)]" = &=l

and,

a—1

v(ley1)

[%fl (1+ g)_lr bl — g {1 — o+ aB(1—f )" [l%t—l—l}

These, coupled with the feasibility constraints, renormalized, and at equality:
&+ = B [k (1)
(1+ g)ift+1 =(1- 61.3)/;& + The

A Balanced Growth Path is when, in the solution to the maxiziation problem, the
variables ki, ¢;, Tk, and ¢, are constant over time.

In this case then, we have

= (g + o)k,

This allows us to completely eliminate 2 from the system (and drop an equation):
-«
—0 __ u
(1+g) _ﬁ[1—6k+aB[ | }
¢+ (g+ &)k = Bke(1 —£)1—=

(1—a)(1 - o) Bk = el=2ld



It can be seen that the first equation uniquely pins down an optimal capital
(detrended) labor ratio which depends only on the deep parameters of the model.

Typically, this system will uniquely pin down a k as a function of the parameters
of the model and it follows that IF ky = k, then the system is on the BGP for all ¢
(show this by guess and verify?). (Subject to the TC holding!) Again typically (when
exactly?) even if this restriction on initial conditions does NOT hold, the solution
converges to the BGP at t — oo.

The system simplifes when we also assume that leisure does not enter the utility
function. In this case, we have:

(1+9)7 = B[1 -6 +aBke!

~

¢+ (g+ 6p)k = BE®

Again, the first equation can be viewed as a restriction on initial conditions, and
if ko = k* satisfies this equation, it follows that the solution to the problem is given
by ki = ko for all ¢, with ¢ given by the second equation.

Even if this does not hold, this is a standard time stationary single sector growth
model and hence it follows that k; — k* in any case. Moreover, this convergence is
monotone. That is:

1. If ko < ];?*, then kg < ]A{?l < ]%2 < ... ]A{f* and

~

2. If ko >];?*, then kg > ]A{?l > ]%2 > ... — k*

7. t
Thus ﬁﬁl,orﬁﬂl—}qlﬁl,or

>k k

log(kt/(1+ g)") — log(k*) — 0, or,
log(k;) — tlog(1 + g) — log(k*)
This convergence is 'from above’ if ky > 12:*, and "from below’ if ky < k*

Define 7(ko, t) = 1 [log(k;) — log(ko)]. This is the average rate of growth (in logs)
for the first ¢ periods given that you start at initial condition k.

Because of the pattern of convergence to the BGP described above, it is typically
the case that

¥ (ko,t) >log(l+ g) if kg < k*
and

5 (ko,t) <log(l+ g) if ko > k*



3 Heterogeneity in Cass-Koopmans

Here we study what the data would like if the economic data for each country in the
world was a Cass-Koopmans model. Of course, since different countries have different
data, the particular versions of the Cass-Koopmans model will have to be different for
each country. And what the data will look like will naturally depend on just exactly
how that heterogeneity is introduced.

3.1 Initial Condition Heterogeneity in C-K

We'll restrict our attention to the inelastic labor supply case.

That is we assume that the data from country 7 is generated from a C-K model
in which all of the parameters (o, 3, a, 8, B, (1 + g),v) are all the same, but kf may
differ across i’s.

1. What is %7
Yy

t

2. What is the pattern between yj and 7, ,,, =1 [log(y,f ) — log(y,f)}, the average
growth rate between periods ¢ and t + s.

3. What is the relationship between interest rates, 1 + R = 1 — &, + Fi(t) and
vi?

OTHER QUESTIONS?

! BA{“K]* K] v
So, you can have large output differences, but these are accompanied by large capital
differences too. Below I discuss how large these must be.

1—apia o i ] i ;1
Here we find that % = B4 k= _ %g = F‘ , or equivalently, % = [ﬂ’-} :
t t

We also find that there is a negative relationship between y; and ; ;,, = ‘l {log(yf ) — log(yf)} ,
the average growth rate between periods t and ¢t + s because of the description above
about convergence to the BGP from initial conditions. And we find that the rela-
tionship between interest rates, 1+ Ri =1 — ¢, + Fj(t) and y; is also negative.

Moreover, for quantitatively interesting versions of the model, this relationships
are quite siginificant.

Thus, if we see, for example that two countries have differences in income of say,
10, then they would have to have differences in capital stocks of (10)Y/¢. Assuming
that o = .33, this means that



i i1/
L M — [10]° = 1,000

J J
kt t

and if it is 30, we have:

i 11/
B _ [}ﬂ — [30]® = 27,000, etc.

o

This depends on alpha, and is less outrageous when « is larger, but even at a = 1,
i.e., the Ak model, it is still pretty large for large income gaps.

Similar reasoning holds for rates of return. Note that

; i1d Fi(ki1) A(ED i\a—1
ri = Filki, 1) = of50 = 02 o),
and hence,
i a(kiye—1 [ ki a—1
r o elk) — = | . In terms of income ratios, using what we did above
) a(k] )1 A ) ’
we see that
; qa-1 1 ,q1/a7e”! .1 (@—1)/a i1 (1—a)/a
L |k — | |& — & — |&
Lt ky Y Y, vt

Thus, with a = 0.33 this becomes:

|:}i](l—.33)/.33 _ [}i{}Q
v Y

i J
g:[}a _
J
Ti

(1-a)/a
yz}

Hence, an income ratio of 10 corresponds to a ratio of rental rates on capital of
100 (with the low income country having the higher rental rate on capital, an income
ratio of 30 corresponds to a ratio of rental rates on capital of 900, etc.

Recalling that the interest rate is given by:
1+Rti:1—5k—|—7”i,

we see that for a country like the US, with R! = .04 (4%), and &k = .08, we must
have r¥ S = 12. For any other country, i, we have

14+ R = 1—6p+7i = 1—6,4rYS [ﬂ;ﬁf = 1—.08+.12 [ﬂ?f = 0.92+.12 [ﬂzif

Us
For example, for Fiy%} = 10 and 30, respectively we get:
't

. 2
1+ R =092+ 12 %27 =0.92 + .12 100 = 12.92

8



Or, R: = 11.92 x 100 = 1192% per year.

. 2
1+ R =092+ .12 [£=] = 0.92 +.12 % 900 = 108.92

Or, R: = 107.92 % 100 = 10, 792% per year.

Again, these calculations are sensitive to what a is assumed to be. See Table.

3.1.1 Cass-Koopmans Initial Conditions

Data Model
=7 1.02 varied (1 4+ g) by assumption
-5% =7 1 to 50 convergence implies small if ¢ is large
=7 ~ 0.677 ~ 0.677
TF P =? varied no differences
Viosn VS Ve o5 =" no relationship decreasing relationship
Yioeo vs. R =7 | no relationship? (risk) no relationship?
< vs. y =7 corr(£,y) > 07 ?
Lvs, v =" corr(£,7) > 07 ?
Educ. vs. y="? corr(Ed,y) > 07? not defined
~N, VS, Yy =7 corr(7,,y) <07 not defined
Yy VS. Y =7 corr(v,,v) < 07 not defined

3.1.2 Differences in A in C-K

Next, we'll look at what the data would look like if the only differences in countries
was in A. Thus, we will assume that kj = & for all i, .

In this case,

Assume that A = A{(1 + g)!, that is the trend growth rate is the same in all
countries, we see that the balanced growth equations are:

(I+g)7=p {1 — S +aAl (l%i)al}

c+(g+ 5k)l% = Aé (/;Z)a



A, ka
v —
Where, as above, k* = o)

Recall that the equilibrium path will correspond to the BGP if kj = k. In this
case, ki = (14 ¢)'k? for all t. Even if k§ # k%, this should be approximately true?

Using the BGP equations for the two countries and noting that all other param-
eters are assumed to be the same, we see that

& [1 — bkt ady (k)al} = (1+9)77 =0 {1 — b+ ak] (l%j)o‘l}

or,

3 [1 — Sp+ Al (l%i)a_l} — 3 [1 — bp+ aAd (icj)a_l}
or,

)™ = A
or,

ciqa—1 j
B A
{’%j] = and so,

{&]_ A
kil T A

Thus, in this case,

1/(a—1)

o Ak)T Al [ﬁir‘ _ A [ﬁt ¢ (149t4] [(Hg)tk%_r
WAy A K] T real (o
4 (8] A A AR R A
=W = = =% 3

b

AQZM

J J
0 Yi

Assuming that o = 0.33, it follows that =2 = 381 — 2 and thus, if-g‘- = 10, we
need

10



A

1 = 100, i.e., technology is 100 times more productive in the rich country
versus the poor one.

NEXT QUESTION:

What is the relationship between y§, and 77 It can be seen that if all countries

are on the BGP, then v = (1+¢) and hence there should be NO relationship between
them, i.e., the relationship should be FLAT.

NEXT QUESTION:

Interest rates? Assuming that all countries are on their BGP’s, we have that

i R 771 ¢ I | o
I+ R =2t =55 =50+9)

Thus, there should be no relationship between g, and R:.
NEXT QUESTION:

Measured TFP?
i i i ; Ai(ki)-33 (ni).67 ;
log(TFP}) =log(y;) — .331og(k{) — .67log(n;) = log {W} = log (A})

So, this delivers dy/dy = 0 and dR/dy = 0 and big 3'/y’, but you need pretty big
differences in A’s.

3.1.3 Cass-Koopmans A’ Differences

Data Model
v =? 1.02 varied (1+9)
o
'3 i I Az
4 =7 1 to 50 {ﬂ 4
=7 ~ 0.677 ~ 0.677
7
TFPi =7 varied TFP: : M
Yi
Yigsn VS- Veg_o5 =1 no relationship no relationship
Yigso vs. Ri =7 | no relationship? (risk) | no relationship
< vs. y =7 corr(£,y) > 07 ?
Lys. y=" corr(£,v) > 07? ?
Educ. vs. y="7 corr(Ed,y) > 07? not defined
Y, Vs. y =7 corr(7,,y) <07 not defined
Y VS. Y =7 corr(vy,,7) < 07 not defined

11



3.1.4 Differences in §;, in C-K

3.1.5 Cass-Koopmans §; Differences

Data Model
v =? 1.02 varied (1+g)
L =7 1 to 50 ?
=7 ~ 0.677 ~ 0.677
TFP! =? varied ?
Yoo VS. Ven_o5 =7 no relationship no relationship
Yigeo V8. R: =7 | no relationship? (risk) | no relationship?
s, y =7 corr(%,y) > 07 ?
Lvs. y=7 corr(£,7v) > 07 ?
Educ. vs. y =7 corr(Ed,y) > 07 not defined
Y, vs. y =" corr(,,y) <07 not defined
Yy VS. Y =7 corr(y,,7) < 07 not defined

3.1.6 Differences in § in C-K
The BGP equations are:

(I+9)77

g {1 — 85+ ady (/%i)a_l}

¢+ (g+ 6k = Ao (kl)a

1. Thus, a higher value of B¢ will be associated with a higher value of ki and thus
a higher value of y; for all . What does this relationship look like?

F 1= b tadg ()| =8 [1- 60+ ado (W)
Assume that 6, = 17

Then,

12



or,
Thus,

g (rordo(k) [£]
vl () ag (k)" LB

a

= (5] =[4]"

Thus, it would be impossibly difficult to get the observed differences in y} from
only differences across countries in 3's.
y vs. 77 there should be no relationship on BGP’s.
Interest rates? Assuming that all countries are on their BGP’s, we have that
i P _ue() 1
1+ R = D41

= Fuwm = FL )7

So, those countries with higher 3’s should have lower interest rates.

TFP? Is equal to A, in all countries.

3.1.7 Cass-Koopmans [ differences

Data Model
v =" 1.02 varied (14+9)
L 1 to 50 L= [2]”
wn 7 ~ 0.677 ~ 0.677
TF P =7 varied equal in all countries
Yoo VS Veo_o5 = no relationship no relationship
Yigso vS. Ri =7 | no relationship? (risk) | 14+ R} =%(1+g)°
s, y =7 corr(%,y) > 07 ?
Lys. y =" corr(£,v) > 07 ?
Educ. vs. y="? corr(Ed,y) > 07? not defined
Y, vs. y =" corr(,,y) <07 not defined
Yy VS. Y =7 corr(y,,7) < 07 not defined

13



3.1.8 Differences in ¢ in C-K

3.1.9 Cass-Koopmans ¢ Differences

Data Model

v =? 1.02 varied (1+g)
% =7 1 to 50 ?

wn 7 ~ 0.677 ~ 0.677
TF P! =7 varied ?

i 5 —
Y1960 VS- V60095 =7

no relationship

no relationship

7 7
Yigeo VS R =7

no relationship? (risk)

no relationship?

s, y =7 corr(%,y) > 07 ?
Lvs. y=7 corr(£,7v) > 07 ?
Educ. vs. y="7 corr(Ed,y) > 07? not defined
Y, vs. y =" corr(,,y) <07 not defined
Yy VS. Y =7 corr(y,,7) < 07 not defined

4 Adding Fiscal Policy to Cass-Koopmans

Here the equilibrium version of the model is:

An equilibrium is:

a sequence of prices: {(ps, 1, wy) }22,

Quantity decisions for the households: {(ct, kt, Txt) }52 = 2HH
Quantity decisions for the output firms: {(c{, :L’it, k{, n{)}g’io = 2f,
SUCH THAT:

1) zH is the solution to:
Max{(ct,k:t,mkt,nt 21352, U((c, £)20)
subject to:

Sobele Fare) < 20 (1 — Tre)reke + (1 — Ty )weng + Ty + 11

14



kt—l—l S (1 — 6k)kt+ Tt
Et‘i‘nt S].

ko fixed.

2) 2! is the solution to:
Mz (ot ot 1 iy, Si20 [Pe(ch + aty) = k] —wini

subject to: ¢ + xit <B (k{)a (Atn{)l_a-

AND
gi+a=d
Ty = xit
Tht = 55{115

II=3%, {pt(C{ + 'Tit + $£t) - Ttkw{ - wtnﬂ

2t [pege + Ti] = 224 [Thereke + Trewiny

the first order conditions for a solution are:
U Uy
1 (l—Tm:)th
Uet = Upts1 [1 — 6 + (1 — Thtt1) Fret1]

or, given the specific functional forms,

Berv (6) (1 — a) BAF™ [15]" (1 - ) = B9/ (4)

—lt 1-0o
and,
_ l—«a
Brer%v (&) = B eid (bega) {1 — b+ (1 — Ther1)a A 1B [—wlkil ] }
OR

(1= )(1 = )B[4]" (1 - 7o) = 4 Aot

15



and,

)7 = 5 [1= 80+ (L= B~ ti) = [42]

Ct At+1
These, coupled with the feasibility constraints, renormalized, and at equality:
c z k1 —
S+ d=BlE a-u

k A k z
Frgy Ay _ .S Ty
At A (1 6k) A At

The government budget constraint is redundant and can be dropped.

Are the necessary conditions that a solution must satisfy (and are sufficient with
the Transversality Condition).

4.1 Balanced Growth

In some cases, the solution to the equations have a stationarity propery. Typically,

this will require that the policy variables also satisfy some sort of stationarity as-

sumption. We will assume that 7,, = 7,,, 7y = 73, and will assume that A, = (1+g)*

and define new variables, k; = k/(1 + g), é& = /(1 + 9)', & = z/(1 + 9)',

Gt = g¢/(1 + g)" Then, the equations above can be rewritten as:
(1=a)1=0)B[k]" (1 - ) = o=

and,
A 110 0 _ ~ a—1
[foss (1 4 )] el — {1 — i+ (L= mR)aB(L — f41) = [k }
These, coupled with the feasibility constraints, renormalized, and at equality:
~ (0%
G+ 2Tk +9e =B [k’t} (1-— Et)lfa
(T4 gk = (1= 6p)ky + By
A Balanced Growth Path is when, in the solution to the maxiziation problem, the
variables ki, ¢, T, and £, are constant over time. This will typically require that g
is constant, i.e., g, grows at rate (1+ g)°.
In this case then, we have

~

T = (g + o)k,

16



This allows us to completely eliminate 2 from the system (and drop an equation):
-«
(1+9)7 =81 =8+ (1 —7)aB [ }

¢+ (g+ o)k +§=Bk(1 -0t

(1-a)(1-0)Bh*(1 —1,) = ct=dld
It can be seen that the first equation uniquely pins down an optimal capital
(detrended) labor ratio which depends only on the deep parameters of the model and
the policy variables.

Typically, this system will uniquely pin down a k as a function of the parameters
of the model and it follows that IF k, = lAc, then the system is on the BGP for all ¢
(show this by guess and verify?). (Subject to the TC holding!) Again typically (when
exactly?) even if this restriction on initial conditions does NOT hold, the solution
converges to the BGP at ¢t — oo.

The system simplifes when we also assume that leisure does not enter the utility
function. In this case, we have:

(1+9)" = |1~ 6+ (1 — mr)aBk*

~

¢+ (g+ 6k = Bk~

Again, the first equation can be viewed as a restriction on initial conditions, and
if ko = k" satisfies this equation, it follows that the solution to the problem is given
by ki = ko for all ¢, with ¢ given by the second equation.

Even if this does not hold, in some cases, even with active fiscal policy, it can be
shown that this model behaves as does a standard single sector growth model under
certain additional restrictions on the fiscal policy variables. For example, if T, = 0
for all ¢, 74y = 7,,; = 7 for all t, and p,;g; = Twyn; + 7riky for all ¢ (recall that n; = 1).
Thus, if there is a proportional income tax, and period by period balanced budget
holds (and there are no transfers or lump sum taxes), then this model has the same
equilibrium path as one without taxes but instead has a different feasibility constraint
given by:

Ct + Tt S (1 — T)BF(kt,Atnt)

Since this is now a standard time stationary single sector growth model and hence
it follows that k; — k* in any case. Moreover, this convergence is monotone. That is:

~

1. If kg < k*, then ko < ky < kg < ... — k* and

17



~

— k*

2. If kg > k*, then ko > ky > ko > ...

i ke /(1+q)"
Thus,% —>1,0r—‘Lk*mL—>1,or

log(ke/(1+ g)") — log(k*) — 0, o,
log(k;) — tlog(1+ g) — log(/%*)

This convergence is ’from above’ if ky > k*, and ’from below’ if ky < k*

Define ¥(ko, t) = 1 [log(k:) — log(ko)]. This is the average rate of growth (in logs)
for the first ¢ periods given that you start at initial condition k.

Because of the pattern of convergence to the BGP described above, it is typically
the case that

Y(ko,t) > log(1+ g) if ko < k*
and

Y(ko,t) <log(l+ g) if kg > k*

4.1.1 Cass-Koopmans Tax Policy Differences
Data Model
v =7? 1.02 varied (1+ g)
% =7 1 to 50 ?
L2 =1 ~ 0.677 ~ 0.677
TFP = varied ?
Yieso VS. Yen_o5 =" no relationship no relationship
Yigso vS. RE =7 | no relationship? (risk) | no relationship?
£ vs. y =7 corr(£,y) > 07 ?
Lvys. y=? corr(£,v) > 07 ?
Educ. vs. y =7 corr(Ed,y) > 07 not defined
Y, VS. y =7 corr(7,,y) <07 not defined
Yy VS. Y =7 corr(y,,7v) < 07 not defined
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4.1.2 Cass-Koopmans Government Spending Differences

Data Model
v =? 1.02 varied (1+9)
L =7 1 to 50 ?
w7 ~ 0.677 ~ 0.677
TF P} =? varied ?
Ylag V8- Yen-g5 =7

! no relationship

no relationship
no relationship? (risk)

no relationship?

7 1
Yioao V8. R =7
Lys. y="?

“ corr(£,y) > 07 ?

Lys. y =" corr(£,v) > 07 ?
Educ. vs. y="? corr(Ed,y) > 07? not defined
YV VS. Y =" corr(~,,y) <07? not defined
Y, vs. ¥ =7 corr(v,,7) < 0?7 not defined

4.1.3 Cass-Koopmans Monetary Policy Differences

Data Model
v =" 1.02 varied (1+9)
% =7 1 to 50 ?
g ~ 0.677 ~ 0.677
TFP; =7 varied ?
Yiag VS. Yeo—o5 ="

no relationship
no relationship? (risk)

no relationship
Yiogo V8- R} =7

no relationship?
Zvs. y =7 corr(£,y) > 07 ?
Lys. y=7 corr(£,v) > 07 ?
Educ. vs. y="? corr(Ed,y) > 07? not defined
Y VS. Y =7 corr(~,,y) <07? not defined
Yy VS. Y =7 corr(v,,v) < 07 not defined

4.1.4 What would have happened with n endogenous?

This could have been asked in the context of any of the experiments above.
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4.2 Summary

Like all models, there are some successes and failures here. And some things that the
modelling just gives up on from the start (e.g., Education and Income, or Population
and Income). This is not a weakness. Models are meant to be abstractions, and
hence, necessarily they will not be perfect. If they were, they would have to be WAY
too complicated to get anything useful out of them!

I think that the biggest weaknesses is the difficulty that the model(s) has (have) in
generating sufficiently large differences in income per capita across countries. Initial
conditions seem to require outrageous differences in k£ and R. But, absent this, it only
gives A, or TFP differences as the way to go. These need to be large, and in addition,
no one knows what it is. Thus, income differences are ’explained’ as differences in
the 'unexplained residual.” Not a very satisfactory set of affairs!

This is why people who use the single sector growth model are naturally led to
cry out for ’theories of TFP.” Although it’s not exactly clear what this would mean.

In the next sections of these notes, we’ll try and do something like that... they can
all be thought of as ’endogenizing’ the technological parameters of the single sector
model, although they do it in VERY different ways!

5 Including Technological Knowledge in a Com-
petitive Model: Some False Starts

How might we ’endogenize’ the technology, and it’s change in the one sector growth
model?

What follows here is some notes of a loose discussion that was carried out in
Econ 8311. Some of the tries were kind of stupid, mostly the ones I suggested. The
students tend to have more common sense than I do.. so their suggestions were not
in the category of 'obviously totally flawed from the beginning.’

5.1 First Try:

An equilibrium is:
a sequence of prices: {(pe, re, wr, 1)},
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Quantity decisions for the households: {(c;, k¢, 7y, by, ny) }2, = 2711
Quantity decisions for the output firms: {(c{, x{, k:tf, n{)}iﬁo = zf
Quantity decisions for the R&D firms: {(AZP kP nliP)}oe, = 1P
SUCH THAT:

1) ZfH s the solution to:

Max (e, koo, U(ce £)20)

subject to:

Yo peler +me] < 20 [reke + wing] 4+ 11

ki < (1—06)ki + x¢

ne+ b <1

ko fixed.

2) 2! is the solution to:

Maz g o 4t nt e, oo [Prled +al) = rib] — winf
subject to: c{ + ZE{ < A{F(k{,n{)

3) 21P is the solution to:

oo A ARD __ RD _ RD
Maz g(app pro nip)ye, 2iZo [Tt A riki wyny

subject to: AfP < G(ARP ERP pkD)

AND
Ct = th
Ty = x{

ke = k] +kEP
ng = ntf+ nf’D

Al = AFP
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=737 {pt(C{ + %{) - Ttk{ - wtnz{] + %0 [TfAtRD - rtktRD - wtnfD
= I/ + O#P

where

I/ =y, [pt(C{ +af) — rikf — wmﬂ

and,

[P = o2 [r{‘AtRD — rkfD — wtnfbD} .

Problems:

1. Although the firm seems to be using the output of the R&D sector, since

we have the feasibility equation: Af = AED included, they don’t seem to be either

choosing it, or buying it. It is not in the list of their choice variables!

2. The R&D firm seems to be using it too. Since it appears both on the RHS of
the firm’s constraint, and on both sides of the R&D firms constraint!

3. Doesn’t it follow that the R&D firm isn’t getting any net revenue or something?

4. Does the R&D firm "own’ A¥P? That’s what it looks like. This is not the usual

way to model factors. We could probably give the households ownership of AP and
have them sell it once and for all to the RD firms in period 0, etc etc.

5. There is no ’source’ for revenue for the R&D firm!

Because of this:

Claim 1 There is no equilibrium of this form.
Formally: Assume that AF(k,n) is CRS in (k,n). (I guess this would be the
idea...) Then, it follows as usual that in any equilibrium, I/ = 0.
Then, it follows that in any equilibrium if one should exist, that
pt(c{ + a:{) = rtktf —|—wtn{.
; . From feasibility, we have that c{ = ¢, x{ = xy ke = k‘{ + kP and n; =

nj +nfP and hence, using the HH budget constraint at equality (from monotonicity
of preferences), we get that:
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S0Pt e 4 w] =372 [k +wmny] + 11

S2opi |d 2| = 5% [rekl +wenf| + 520 [rkFP + wnfP| + 11
0 =55 [rekf? + wenfP| + 117 + 11RP
0=>, {rtk‘tRD + wtnfw} + TI7P

But, >27°, [rtktRD + wtnfDl > 0 and hence IT*P < 0 a contradiction of profit
maximization on the part of the R&D firm. We are assuming that the RD firm can
get non-negative profits by setting kf*P = nf*P = 0 for all ¢.

Thus, there can be no equilibrium of this sort.
We assumed:

1) U is strictly monotone

2) AF(k,n) is CRS in (k,n).

3) I%P(0,0) > 0.

Basic Problem Was: No one was paying for RD.

5.2 Try # 2: Making f pay for A/:

An equilibrium is:

a sequence of prices: {(ps, re, wi, 1)},

Quantity decisions for the households: {(c, ki, z¢, b, ne) }220 = LHH
Quantity decisions for the output firms: {(c{, x{, ktf, n{, A{)};’go = 2f
Quantity decisions for the R&D firms: {( ARP k[P nfP)1oo = 1D
SUCH THAT:

1) ZfH s the solution to:
Maz (e, kyetim)yee,U(cr €)20)

subject to:
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S Ropela + o] <320 ik + wyny] + 11
kt—l—l S (1 — (S)/{Zt + ¢
ne+ 4 <1

ko fixed.

2) z/ is the solution to:

f f f f Apf
AM%@@@@@m;Zﬁﬂm@+wn—nh—wmrﬂy&}
subject to: c{ + :1:,{ < A{F(k{,n{)

3)  zfP is the solution to:

[ A ARD RD RD
Max{(AfD,ka,ntRD)}?io tho [’r’t A‘t — Ttkt — Wiy

subject to: AP < G(AFP | kEP nltP)

ABP s fixed.

AND

c=d

2 =]

ke = k] + kPP
ne =ni + nftP

Al = ARD

IT=2>2% {pt(c{ +xf) — rikf —wnf — rtAAﬂ + 32 [rtAAtRD — rkftP — wn P
Problems:

1. This seems to have fixed some of the problems.... At least there is now a source
of revenue for the R&D firm. But, AFP still seems to be being used twice, once by
the R&D firm, once by the output firm. Is this a problem?

2. AF(k,n) is IRS in (4, k,n)
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Claim 2 There is no equilibrium of this form.

Formally: Assume that AF(k,n) is CRS in (k,n).
., From the maximization problem of the firm:
i. Suppose that p,(cf + zf) > k! + w,nf for some 7.

Then notice that by changing plansto (2¢f, 22/, 2k1, 2nf, AL, leaving (¢f , z{, kf , nf , A])
unchanged for other ¢’s, profits are higher, a contradiction.

ii. Suppose that p,(cf +2) < k! + w.n! for some 7.

Then notice that by changing plans to (0,0, 0,0, A7), in period 7 leaving (c,f, x,{, k:tf, n{, A,{)
unchanged for other ¢’s, profits are higher, a contradiction. (This uses the assumption
that F(0,0) =0.)

iii. Suppose that p(c/ + 2f) = r k! + w,nf for all 7.

Then,

If =33, {pt(C{ +af) = rk] —wn — TfAﬂ = Y2oritAf < 0.
Thus, again, there can be no equilibrium of this sort.

This came from the fact that the true production function of the firm is now IRS,
the constraint is:

yl < AIF(K, n{), which is strictly IRS in (A, k,n).
We assumed:
1) AF(k,n) is CRS in (k,n).

That’s it?
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5.3 Try 3: Making F' and G CRS:

Getting rid of the IRS in the output sector (and also the A sector):

Can we fix this by changing the form of the production function for the output
sector? Le., suppose that the constraint is of the form y/ < F(A! kf nf) with
F(A,k,n) CRS in the three factors.

An equilibrium is:

a sequence of prices: {(pg, 74, wy, 1)},

Quantity decisions for the households: {(ct, ke, mt, by, nt) }320 = 2711
Quantity decisions for the output firms: {(c{, x{, ktf, nf, A{)};’go = 2f
Quantity decisions for the R&D firms: {( AFP, kRP nfiP)}ee = 21D
SUCH THAT:

1) 21 s the solution to:

Maz, ,kt,wt,lt,nt)}fioU«ctv €)2)

subject to:

Yo peler +me] < 20 [reke + wing] 4+ 11

ki < (1—08)ky + x¢

ng+ 4 <1

ko fixed.

2) 2/ is the solution to:

Mal'{(ci”I{’ktf’n{’A{)}?io X0 [pt(C{ + 93{) - Ttk{ - wtn{ - pflAﬂ
subject to: ¢f +zf < F(A{, k{,n{)

3) 21D is the solution to:

RD

00 A ARD RD
MG.CL'{(A){%D7k£%D7n§%D)}§O tho [Tt A—t - Ttkt — wny
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subject to: Af < G(AFP, kP nfiP)

ABD s fixed.

AND
c=d

T = a:{

ke = ki + kRP
ng = ntf + nfw

Al = ARD

1= 502 [pe(cf + 2f) — rik] —wend —rfAf] + 5520 [ ARP — rifP — winfPP

Problems:

1. Still, it seems like AZP is getting used *twice’ once by the output firm, once by
the R&D firm. It looks to me like it is internally consistent, in that an equilibrium
might exist, but since AP is a public good between the y firm and the RD firms,
there is no guarantee that the equilibrium will be efficient. Try this... see what goes
wrong with the First Welfare Theorem if you try and prove it! **##*

RHRHRHE Pricila conjectured that this IS efficient? Is she right? *#x
RRRRE Roozbeh conjectured that there is no equilibrium. Is he Right? ###eieek
Is this correct? Is this model equivalent to one in which the R&D firm has a convex

technology but produces two outputs, (A, AfP) and these are perfect complements
in output? I.e., the constraints are:

max(A/, |, ARR) < G(ARP, kRDP nfD)?777?
And feasibility is still A{H = ARD?
2. Because of this, the equilibrium outcome will depend on the industrial structure

too. l.e., it will be different if the R&D firm is merged with the y firm or if it is
separate?

3. How would we adapt this to multiple firms in each sector?
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5.4 Try #4: Merging the Firms

FAHHRHE Pricila conjectured that this is the same as Try #3, is she right? Francesca
also seemed to think that this was true in a conversation after class. *****

Just like Try #3, except the two firms are merged into one with the aggregate
feasibilty constraint on A no longer applicable, but having it appear in the constraints
of the firm instead:

R&D inside the output firms:
An equilibrium is:
a sequence of prices: {(ps, 7, wy) }$2,

Quantity decisions for the households: {(ct, ki, m¢, b, ni) }820 = 2711

Quantity decisions for the output firms: {(c{,m{, k;tf, kﬁD,n{;,nfD, A{)};ﬁo —
SUCH THAT:

1) 21 s the solution to:

Maz (e, goor,teimoyi= Ut €)720)

subject to:

Sopt (e Fwe] <20 [reke + weng] + 11

ki < (1—06)ky + x4

ng+ 4 <1

]{?0 ﬁxed.

2) 2! is the solution to:
00 f f f RD f RD
MAZ{(of ot 4 k2 mf 2 Ay, Do [Pe(el] + ) = rulhd + kfP) — wn(nd + )]
subject to: ¢ +af < F(A{, k:{,n{), and,
B2 < G(AJ", KD nft?)
A+ A0 < A
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AEP is fixed.

AND
Ct = C‘tf
Ty = l‘tf

ke = ki +KEP
ng = n{—i— nfD

IT= 3% {pt(cf—i— wf) = r(kf + KfP) — wy(nf +”£{D)} +

This is an internally consistent model as long as the standard assumptions are
satisified. In particular, this requires that F'(A, k,n) and G(A, k, n) are CRS, concave,
etc., etc.

Problems:
1. We still have the bounded output problem that we identified in Try #4.

2. What if there is more than one firm? See Try #6 below.

5.5 Try # 5: Making A purely private

An equilibrium is:
a sequence of prices: {(py, ry, wy, ) 122,
Quantity decisions for the households: {(ct, ki, m¢, b, nt) 12, = 2718
Quantity decisions for the output firms: {(c{, x{, k:tf, n{, A{)}fio = zf
Quantity decisions for the R&D firms: {( AFP kPP nfiP)}oo = 1P
SUCH THAT:
1)  zHH is the solution to:
Maz{(e, kwotinyz, U £)Z0)

subject to:
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YZ2opela + @] < 2 [k + wpny] + 11
ki1 < (1—06)ki + x4

ng+4 <1

ko fixed.

2) 2§ is the solution to:

Max{(c{,x{,ktf,n{,A{)}in Yico [pt(c{ + 3 ) — rtkt — wtnt — p; Af}
subject to: c{—{— ZE{ < F(A kt ,nt)

3) 2P is the solution to:

Max{(AﬁD,Agd,kﬁD,nfD)}gio prads {T’fAfLD — kP —wmnf — 7’2414%"1}
subject to: AfH < G(A}4, k[P nfiP)

AEP is fixed.

AND

Ct:(l‘tf
.I‘tZSL’{
ke = ki + k[P

ny = nf + nfP

Af + A;d ARD

=3, {pt(ct + l‘t) - Ttkt - wtnt — T Aq +2-72 [ AARD oy | RD

— wynftP

rd
—TtA

IF both F' and G satisfy the standard requirements, this looks like a standard

competitive model. So, this would be one way to do it. (I think.) Other Alternatives
are Below!

This looks a lot like that A(k,h) model, where the role of h is played here by

30
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(1—64)A+ BA"™E™n™ and n4 + 13, + 0, = 1. See below.



5.6 Try Number 6

What happens with multiple firms in Try Number 57

R&D inside the output firms:

An equilibrium is:

a sequence of prices: {(pg, 1, wy) }$2,

HH

Quantity decisions for the households: {(c, ki, z¢, b, ne) }20 = 2

. Quantity decisions for the output firms: {(czf, DR N e R A{f)}ggo =
2 9=1,..,J

SUCH THAT:

1)  zHH is the solution to:

Maz 7kt,wt,lt:nt)}{’§oU<(Ctv €)2)

subject to:

Yope (e + ] < 3% [reke + wene] + 11
ki < (1—06)k;s +

ne+ 4 <1

/{Zo fixed.

2) 2/ is the solution to:

ML {1 0 ) 2 ! a0 43 AT AP e

S (e + @) = ri(k + 50) = wi(nf! + nfP)]
subject to: c{f +x{f < F(A{f,kgf,n{f), and,

AR < GAT K™ ni™?)

A4 AT < AP

31



AP s fixed.

AND

=l

Ty = Ejfﬂ{f

ke =55 [k + K7

ng = Ej [nﬁf + niRD}

=Y,V

IV = 5532 [pelcd” + al!) = re(kd + K"7) = we(nd +n}"™)]

So, in this formulation, there is no trade in knowledge across firms. It is purely
’knowledge in a firm.’

How about if we change it to:
a sequence of prices: {(pe, re, ws, i) Y30

2) 2! is the solution to:

Max{(C{ f@{f 7k{f 7k{ RD »n{f ’n{RD ’A{va{Td ’A{ rb ) }fio

S0 [l +at?) — rkl! + K) = wilad! +nfP) — (A0 4 4]
subject to: ¢} + a3 < F(A{f,kgf,n{f), and,
ALY < G(AY KD nd"P)
AP s fixed.
And in feasibility make it:
Zj(A{f + A{Td) =3 AJRP for all t.
Both of these are internally consistent models as long as the standard assumptions

are satisified (I think!!!). In particular, this requires that F(A, k,n) and G(A, k,n)
are CRS, concave, etc., etc.
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Issues:
1. Boundedness again.

2. Is R&D private or public? We’ll return to this below.

5.7 A General Problem with Feasibility

This section discusses a General Problem arising with making F'(A, k,n) and G(A, k,n)
CRS in (A, k,n). This is the problem that, if the technology does NOT exhibit

'LINEARITY IN THE REPRODUCIBLE FACTORS’

Then output is bounded along any feasible sequence.

To see this:

Suppose that F'(A, k,n) = A% k*n% with ap+ap+a, = 1, a; > 0fori = A k,n,

and that G(A,k,n) = (1 — 64)A + BA" k"™ n™ with ng + 1 + na, = 1, n; > 0 for
1=A k,n,

Claim 3 OQutput is bounded along any feasible sequence.

To see this, simply note that y, = F(A{,kf,n{) < F(A] k1) = A**k{** with
ay +ap < 1. Note that 0k — oo if k — oo

I’ll show this assuming 6, = 04 = 1. It’s easy in the one sector model? Why is it
so hard here?

By successive substitution, note that we have
Apy1 < BAPAER < BAPA [A§A k™ = BAJA AP kg™ *
2

< BA?AA?:A{?R [Af 2k | = BA?AA?:‘F’“ anOMk k?fgk < ..
Let A; = maxgco<; A,
Then, we have

TMa TOANE FOACKT 1 %Mk
A SAFATTAS T TRty <
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< koIl AJ4Y
where v = max(ay, 1;,).
kX This looks wrong! Why does 14 appear in all of them?77*¥#**

This assumes that A; > 1. We've also assumed that ky > 1, since the term that

t/2 t/2
would appear in the inequality is k;g"“ " if ¢ is even, etc. If either of these does not

hold, they can be replaced by 1 in the inequalities and we can go on from there.
Then,
Appr < kolll_gAJAY" < koTTE_ AJ2"" < ko A2/ 077,

Notice that by construction, 1 — v = min(1 — ax,1 — n;) > 1 — ax > a4 since
o+ oag < 1.

Thus, aa/(1 —v) < 1, and because of this, it follows that for large enough A,
koAna/(=v) < A,

Now suppose that A; — 0o, moreover, assume that this is monotone (this keeps us
from having to carefully construct a subsequence which is minimally monotonically
increasing below)— A1 > A; for all ¢.

Then

Apyy < kA1) = o AT4/07Y) < 4 a contradiction. This completes the proof
of the claim.

What about if 6 < 177777 ***Majorize the functions by increasing the exponents
perhaps?***

This is simple to see in the one sector model— INTUITION and GRAPH!!!!

Again, we’ve run into a fundamental Problem with the approach. And it seems to
depend on almost nothing, only that there is the strictest sort of diminishing returns
in the reproducible factors. Note that it goes away if n,, = 0.

IN THE ONE SECTOR MODEL:
Here the constraint is:

et + wpe + war < F(Ag, ke, ne) = BA7 k™ ng™ with aa+ ax + a, = 1, all positive.
With laws of motion given by:
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ki < (1= 0)k; + zpy

A S(1=04) A+ 7y

In this case,

ki1 — ke < BAFAKS™* — 6k
Ap1 — Ay < BAFAKY: — 64 A,

Can show that BA?4k{* is maximized at A; = ¢k,. That is, the solution to the
problem:

Ma${A7k}BAaAkak s.t. A+ k<z
has ‘,3 = ¢, where ¢ depends on a4, ag,6 and 6 4.

In this case,

BA{ k™ < B(¢k)™ k'™ = B k4T,

where, by assumption, ag + ar =1— oy < 1.
Thus, from above, we have that

ki1 — by < BAYKY — 6k, < B k4t — §k,.
But, since a4 + a; < 1, it follows that for large k,
B2 kit < 8k, and hence, k1 < ke

A similar arguement holds for A if 4 > 0. Thus, if both 6 > 0 and 64 > 0,
output is bounded.

If 6 , = 0, the argument is more subtle, since it is, in this case FEASIBLE to have
Ay — 00, and hence, have y; — 0o, but it can be shown that it is never optimal to
do this. (Right??77)

Ak Need to show that ¢ < oo, is this true even if § 4 = 07777

This is NOT a problem if:

a, =1, = 0 (maybe you only need n, = 07)
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However, in this case, w; = 0, and hence w;n; = 0 and hence, wyn,/y; = 0, not
the .67 or so that we observe in the data.

One ’out’ of this is the A(k,h) model, where ’labor supply’ is a mix of human
capital and hours. In this case, each 'R&D firm’ is a household where the output is
privately owned human capital. Thus, A in all of the notes above corresponds to h
in the A(k, h) model.

Even in this case, there are some issues about how you model things.

If z = nh, this is IRS in (n, k), although this is at the level of the individual
household. Some non-convexities at the 'micro-level” are okay— e.g., indivisibilities in
the purchase of cars, etc. ****LOTTERIES??77#*4**

Another issue that arises is the form that preferences/utility should take in this
case. Should it be:

Ule.t) = 5, Blulen, () = 5 B9 v(0)?

Or, should it be:

Ule,l,h) =5, Bruler, bhe) = 4 B [v(cr, €he)] 7

where v is homothetic — v(ce, Ghe) = [0 + (1 — 0)(£ehy)?)*?
The second turns it into a concave problem.

ek WRITE OUT THE HH PROBLEM HERE*###*

6 Alternatives:
What did we learn from our series of False Starts?

Factors to consider:

1. Is it an internally consistent specification of equilibrium? (I.e., does an equilib-
rium even exist?)

2. Will it Grow? (This requires linearity in the reproducible factors.)
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3. How sensitive is it to the specification of Industrial Structure? If it is VERY
sensitive, what is the 'right’ Industrial Structure to use?

4. What is the source of differences across countries?
5. Are there any serious couter-factual implications? E.g., Interest rate facts.

6. What is measured TFP?

Approaches that will work/ have been used/ have some shot at success:
1. Drop Muliplicative A, i.e., Ak and A(k, h) models.

a) country differences?
b) still need linearity in the reproducible factors or else there is no growth.

2. IRS with Planner’s Problem as the 'positive theory’

3. CRS at the individual level, but IRS at the aggregate level through external
effects, knowledge spillovers.

4. TRS at the individual level, but monopoly power/ monopolistic competition.

IRS, how it’s handled, and ’size’ of a country?
We'll say a bit about each of these.

Planner’s Problem

a) country differences?

b) still need linearity in the reproducible factors or else there is no growth.
c¢) Decentralization?

External Effects

a) country differences?
b) still need linearity in the reproducible factors or else there is no growth.
c) How exactly? Industrial Structure?

Monopolistic Competition

a) country differences?
b) still need linearity in the reproducible factors or else there is no growth.
c) How exactly? Industrial Structure?
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7 Convex Models of Endogenous Growth: The Ak
Model

In this version of the models, we identify A from the previous discussion with k in
the math. Le., k = knowledge.
Here the equilibrium version of the model is:

An equilibrium is:

a sequence of prices: {(ps, 7, wy) }$2,

Quantity decisions for the households: {(ct, k¢, 74)}22, = 21
Quantity decisions for the output firms: {(c{, x{, k:tf)};’io =27
SUCH THAT:

1) ZfH s the solution to:

Maz e, jwoyye,U((c)20)

subject to:

YiZoptle +ai] <320 [rekd] + 11

kin < (1—0)ke + x4

ko fixed.

2)  2f is the solution to:
Max{(c{,m{,k{)}ggo pDray [Pt(cf + SU{) — Ttkﬂ

subject to: c{ + JJ{ < Aklf.

iy
I
K

s
I
8

=

>
Ky
I
=
~
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II =3, {pt(C{ + %{) - Ttkﬂ

Since this is a standard convex model with a representative household and a
representative firm, the equilibrium is unique (if it exists *****What do you need for
this?****) and will solve the planners problem:

Maz (¢, b anyze, U ((c)i2o)

subject to:

[0 + 2] < Aky

ki < (1—06)kt + xy

ko fixed.

Assuming that U(c) = 3, f'u(c,), we have:
pe = B (cy) /8% (cp), and 74 /p, = A for all t.

As you have seen in the past, and assuming that u(c) = ¢!79/(1 — ), this model
features constant growth at the rate v where

v=1801 -6+ A7

7.0.1 Differences in &} in the Ak Model

1. What is ﬂj‘?

Yi
¥ Ak AYK K
WA Ak K

Thus, it’s possible to have as wide a dispersion in y as wanted, but it must be
exactly matched by an equal dispersion (in relative terms) in k’s in any period.

2. Relationship between ¢! and future v? The growth rate does not depend
on initial conditions. So, if differences in levels in period t are due to differences in
k;s then the future growth rate will not depend on the period ¢ level. Thus, this
relationship should be flat.

3. Interest rates on loans (e.g., consumer borrowing) would be given by
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1+ R =1-6+r,=1-6+A

This does not depend on either initial conditions, or the current level of k,. So,
the observed interest rates should be the same for all observations.

4. What is measured TFP?
log(TFP}) =log(y!) — .331og(k%) — .67 log(0) = —o0

Not a very interesting answer! (This is just because we have assumed that labor

doesn’t enter the production function, we will get a more interesting answer when we
look at the A(k, h) model below.

7.0.2 Ak: Initial Conditions

Data Model
v =7 1.02 varied ~? =061 — b+ Al

L 1 to 50 L=k
=7 ~ 0.677 not defined

TFP! =? varied not defined

Y ae VS. Veg—o5 = no relationship no relationship
Yigeo V8. R: =7 | no relationship? (risk)
Lys. y="?

U

z _
= vs. y ="

corr(%,y) > 07

no relationship
no relationship

corr(£,7v) > 07 all countries have the same £ and ~y
Educ. vs. y="7 corr(Ed,y) > 07 not defined
Y, vs. y =" corr(,,y) <07 not defined
Yy VS. Y =7 corr(y,,7) < 07 not defined

7.0.3 Differences in A in the Ak Model

1. What is ﬂf—‘?
Yt

d_ AN A

Aiyt

Where ~; solves:

i
v Alk] Ak

AJd;.

(7:)7 = B[1 — b, + Al
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Thus, countries with larger A¥s will have larger y”s and this difference will grow
larger over time.

Thus, it’s possible to have as wide a dispersion in y as wanted, and this is even
true without any initial differences in ks, but it must be almost (because of the A*/A’
term) exactly matched by an equal dispersion (in relative terms) in k’s in any period.
Moreover, this dispersion grows over time.

2. Relationship between ! and future 4? Countries with high 3’ are those coun-
tries with high A". These countries also have higher v; and so there should be an
increasing relationship between y; and ~.

3. Relationship between ¢} and interest rates? Interest rates on loans (e.g., con-
sumer borrowing) would be given by

14+ R=1—-6+ri=1-6+A"

Countries with high y? are those countries with high A’. These countries also have
higher R! and so there should be an increasing relationship between y} and R’

4. What is measured TFP?
log(TFP}) =log(y;) — .331log(k}) — .67 log(0) = —o0

Not a very interesting answer! (This is just because we have assumed that labor

doesn’t enter the production function, we will get a more interesting answer when we
look at the A(k,h) model below.
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7.0.4 Ak: A’ Differences

Data Model
v =7 1.02 varied 7 = B[l = b+ A
%:7 1 to 50 %—:l%ﬂ;z-ﬁoo
Yy Yy iy
=7 ~ 0.677 not defined
TF P! =7 varied not defined

‘?

no relationship

high y&, == high Y40 o5

Yioen V8- Yen-o5 =
7 7
Yoo VS I =7

no relationship? (risk)

high y&, = high R!

Zvs. y =7 corr(£,y) > 07 corr(%,y) >0
Lys. y=? corr(£,7v) > 07 corr(£,~) >0
Educ. vs. y="? corr(Ed,y) > 07? not defined
YV VS. Yy =" corr(7,,y) <07 not defined
Y VS. Y =7 corr(y,,7) < 07 not defined

7.0.5 Differences in 6, in the Ak Model

This is exactly the same as the differences in A section.

7.0.6 Ak: ¢, differences

Data Model
v =7 1.02 varied 7o =B11-6 + A
49 1 to 50 NN
Yy Y fyi A
1 =7 ~ 0.677 not defined
TF P} =7 varied not defined

i - —
Y1960 VS- V6095 =7

no relationship

high g, = high Y¢0_q5

7 T
Yoo VS I =7

no relationship? (risk)

high y&, = high R!

£ vs. y =7 corr(£,y) > 07 corr(%,y) >0
Lvs. y=? corr(£,v) > 07? corr(£,v) >0
Educ. vs. y="7 corr(Ed,y) > 07 not defined
Vp VS. Yy =7 corr(Vp,,y) <07 not defined
Y, V8. 7 =7 corr(y,,7v) < 07 not defined
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7.0.7 Differences in (§ in the Ak Model

Countries with high 3’s have higher +'s.

1. What is £7?
Yt

4o Akl Ak Ay
: , :
yi Akl AV A7

Where «; solves:

(7)7 = 6" [1 = 0x + 4]

Thus, countries with larger 3”s will have larger y”s and this difference will grow
larger over time.

Thus, it’s possible to have as wide a dispersion in y as wanted, and this is even
true without any initial differences in k’s, but it must be exactly matched by an equal
dispersion (in relative terms) in k’s in any period. Moreover, this dispersion grows
over time.

2. Relationship between y! and future «? Countries with high y* are those coun-
tries with high §°. These countries also have higher v, and so there should be an
increasing relationship between 3% and .

3. Relationship between ¢} and interest rates? Interest rates on loans (e.g., con-
sumer borrowing) would be given by

1+Ri=1-6+rt=1-6+A

Countries with high 3 are those countries with high . But, there is no relation-
ship between yi and R'.

4. What is measured TFP?
log(TFP}) =log(y}) — .331log(k}) — .67 log(0) = —o0

Not a very interesting answer! (This is just because we have assumed that labor
doesn’t enter the production function, we will get a more interesting answer when we
look at the A(k,h) model below.
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7.0.8 Ak: g Differences

Data Model
v =7 1.02 varied ’Yw =0"[1-6r+ 4
L _y 1 to 50 Lo LU, o
o) y? Vil
ﬂ;ﬂ —? ~ 0.677 not defined
TFP; =7 varied not defined

i ~ —
Yio9a0 VS Y60—95 =

2

no relationship

high y¢, = high Y6 g5

%960 VS. Ré =7

no relationship? (risk)

high y4, = high R!

Zvs. y =7 corr(£,y) > 07 corr(%,y) > 0
Lys. =7 corr(£,~v) > 07 corr(£,v) >0
Educ. vs. y="? corr(Ed,y) > 07 not defined
Y VS. Y =" corr(~,,y) <07 not defined
Yy VS. Y =7 corr(v,,v) < 07 not defined
7.0.9 Differences in ¢ in the Ak Model
7.0.10 Ak: o Differences
Data Model
v ="? 1.02 varied V7 =B = bk + Al
L —7 1 to 50 LB o0
Y Yy ’yi Yy
2= ~ 0.677 not defined
TF P} =? varied not defined

i = —
Y1960 V8- V6005 —

2

no relationship

high yi, = high Y4005

7 7
Yoo VS I =7

no relationship? (risk)

high v, = high R!

£ vs. y =7 corr(£,y) > 07 corr(%,y) >0
Lys. y =" corr(£,7) > 07 corr(%,7) >0
Educ. vs. y="? corr(Ed,y) > 07? not defined
~N, VS, Yy =7 corr(7,,y) <07 not defined
Yy VS. ¥ =7 corr(v,,v) < 07 not defined




7.1 Adding Policy in the Ak Model

New version of the model, TDCE only:
Here the equilibrium version of the model is:
An equilibrium is:
a sequence of prices: {(pg, 1, wy) }$2,
Quantity decisions for the households: {(c, kt, 1) }3°, = 21
Quantity decisions for the output firms: {(C{, af k:tf) %, =27,
SUCH THAT:
1) zHH is the solution to:
Maz (e, koeoyze,U((c1)i20)
subject to:
Sopela +xe] < S20[(1— Th)rke + Ty + 11
ki1 < (1—06)ki + x4

]{?0 ﬁxed.

2) 2/ is the solution to:
Maz (.1 of piyes 2iimo {Pt(C{ +af) - Ttkﬂ

subject to: c{ + ZE{ < Aktf.

AND

=52 [pulel + o) — k]|
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Sy pege + Th) = 32, Tmeke

NOTE: What if taxes were on UNDEPRECIATED capital instead? L.e., Tax; =
Tt(T‘t — 6)]@7

Assuming that U(c) = 3, f'u(c;), we have:
p; = B (¢;) /8% (cp), and 14 /p, = A for all t.

As you have seen in the past, and assuming that 74 = 7 for all ¢, this model
features constant growth at the rate v, where

7, =601 6+ (1—7) A

7.1.1 Differences in 7 in the Ak Model

Countries with high 7’s have lower +'s.

1. What is 5;7
t

Yo Akl Ak, A
v, Akl Ak

Where v, solves:
(7)7 = B[ = b+ (1 — 73) Al

Thus, countries with larger 7¥s will have smaller 3”s and this difference will grow
larger over time.

Thus, it’s possible to have as wide a dispersion in y as wanted, and this is even
true without any initial differences in k’s, but it must be exactly matched by an equal
dispersion (in relative terms) in k’s in any period. Moreover, this dispersion grows
over time.

2. Relationship between g} and future v? Countries with high 3 are those coun-
tries with low 7'. These countries also have higher v; and so there should be an
increasing relationship between y; and ~.

3. Relationship between ¢} and interest rates? Interest rates on loans (e.g., con-
sumer borrowing) would be given by
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1+ R =1-6+ri=1-6+A
oristhis 1 -6+ (1—7")A

oo T think that

100% [(1 — 64 A) — 1]

is the interest rate paid by firms on loans, but
100 [(1—=6+(1—71")A)—1]

is the amount received (after tax) by consumers.

Countries with high 3* are those countries with low 7. There no relationship
between 3! and and the interest rates paid by firms, but those countries with high y°

should be those countries with a low 7 and hence a high R’
4. What is measured TFP?
log(TFP}) =log(yi) — .33log(ki) — .67 log(0) = —o0

Not a very interesting answer! (This is just because we have assumed that labor
doesn’t enter the production function, we will get a more interesting answer when we
look at the A(k, h) model below.

7.1.2 Ak: Tax Policy Differences

Data Model
vy =7 1.02 varied v = B[l — b, + (1 —7;)A]
4 =7 1 to 50 4 B 00

wn =7 ~ 0.677 not defined

TFP; =7 varied not defined
Yigso VS- Veo_o5 =" no relationship high 4, = high ¢, o5
Yigso vS. RE =7 | no relationship? (risk) high yi, = high R!
< vs. y =7 corr(£,y) > 07

z —?
= vs. y =1

corr(%,y) >0

corr(£,v) > 07 corr(£,v) >0
Educ. vs. y="? corr(Ed,y) > 07 not defined
Y VS. Y =7 corr(7,,y) <07? not defined
YV VS. Y =7 corr(v,,v) < 07 not defined
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7.1.3 Ak: Government Spending Differences

Data Model
v =7 1.02 varied
£ =7 1 to 50
Yi
=T ~ 0.677
TFPti =7 varied
Yioeo VS- Veo_gs =7 no relationship
Youo VS. R =7 no relationship? (risk)
y Vs Yy =1 corr (£, y) > 07
s Vs =" corr(£,7) > 07
Educ. vs. y =7

corr(Ed,y) > 07
Yy VS. Yy =" corr(,,y) <07
Yy VS. Y =7 corr(y,,7v) < 07

7.1.4 Differences in y in the Ak Model

The rate of inflation is different. For concreteness, have 2 goods, one with a CIA
constraint. Feasibility is:

cit+ co +xpe < Aky

kev1r < (1 — Og)ke + Tie.
HH problem is:

max > Blu(cry, car)
Where u(cy, cor) = {0ch;, + (1 — 0) 5, } /7.
There is no relationship between 's and u'.

1. What is %7
Yi

2. Relationship between v and future v? none
3. Relationship between y; and interest rates? none for real rates at least.

4. What is measured TFP?
log(TFP}) =log(y!) — .331og(k%) — .67 log(0) = —o0

Not a very interesting answer! (This is just because we have assumed that labor

doesn’t enter the production function, we will get a more interesting answer when we
look at the A(k, h) model below.
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7.1.5 Ak: Monetary Policy Differences

Cash/Credit model

Data Model
v =7 1.02 varied W =0[1=6p+(1—=7)A
% =7 1to 50 ?
w1 ~ 0.677 not defined
TFP; =7 varied not defined
Yigso VS. Yao o5 =" no relationship ?

Yigso vS. Ri =7 | no relationship? (risk) ?
Lys. y="7 corr(%,y) > 07 ?
s,y =7 corr(£,v) > 07 ?

Educ. vs. y =7 corr(Ed,y) > 07 not defined
Yy VS. Y =7 corr(7,,y) < 07 not defined
N, VS, Y =7 corr(v,,y) < 07 not defined

8 Convex Models of Endogenous Growth: The A(k, h)
Model

8.1 A(k,h) Models, Inelastic Labor Supply

Here, the equilibrium version of the model is:

In this version of the models, we identify A from the previous discussion with k
in the math. Le., k = knowledge.
Here the equilibrium version of the model is:

An equilibrium is:
a sequence of prices: {(p, 7, we) }72,
HH

Quantity decisions for the households: {(ct, ki, he, Tit, The, 2¢) }i20 = 2

Quantity decisions for the output firms: {(c{, :L’it, xﬁt, k:{, ztf)}fio = zf,
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SUCH THAT:

1) zHH is the solution to:

Maz e, jwiyye, U ((c)20)

subject to:

S opelc + Tt +xne] < D700 [reke + weze] + 11
kiv1 < (1= Op)ke + Tt

hiv1 < (1 —0n)he + xp

zt < nghy, ny <1

(ho, ]{30) fixed.

2) 2/ is the solution to:
Max{(ctf7mtf7ktf)}?io Z?i() |:pt(ctf + :Uﬁt + xit) - Ttktf - wtzif:|

subject to: ¢ + zf, + zf, < F(k{, 2)).

AND

Cy = C{

Trt = xit

Tht = xit

ke = ki

2 =2

IT=>7, {pt(C{ + oy + afy) — ek — wtzﬂ

Since this is a standard convex model with a representative household and a
representative firm, the equilibrium is unique (if it exists *****What do you need for
this?****) and will solve the planners problem:

Max{(ct Skt he it ,:Bht)}?io U((Ct)?i())

subject to:
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[ + @ + Tpt] < F(Ky, 24)

kepn < (1= 0p)ky + gy

hiy1 < (1 —6n)he + zhe

ze = hy

(ho, ko) fixed.

Assuming that U(c) = 3, f'u(c;), we have:

pe = Bt (¢,) /8% (o), and 1, /p, = F(ky, 2,), wy = F.(ky, 2) for all ¢.

As you have seen in the past, and assuming that u(c) = ¢!77/(1 — ), this model
features the two Euler equations:
(BEK)  [%2]7 = B[1— & + Fi(ks, )], and

(BEH)  [22]" = B[ =8, + Fu(ke, ).

Thus,
B = 8k + Fr(ke, 2)] = B[1 — 6n + Fu(ke, )], or,
Fi(ke, 20) — 66 = Folku, 20) — 6.

There is typically a single k/z ratio satisfying this constraint since the LHS is a
decreasing function of k/z and the RHS is an increasing function of k/z.
For example, assuming that F(k,z2) = F(k,h) = Ak®h'~® and that 6, = Ok, we
see that in this case F(k¢,z:) = F.(ks, z) for all ¢ which reduces to:
%: = 1;4 for all ¢

on any interior path. We’'ll assume that there is no issue about non-negativity of
either z3; and z;. (This is an assumption about (hg, kg).) Given this, we have that
Fy, is given by:

Fk(k‘t, ht) = Fz(k’t,ht) = aF(kt,ht)/krt

. o l1—a _a]ie a o
= aAk{IhlT = aA [%ﬂ =ad [1—} = Aa®(1 — a)!
Substituting this end we find that, in any interier equilibrium:

[22]7 = B[1 — 8 + Aa*(1 — )] for all ¢
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Since the RHS does not depend on ¢, it follows that in any interior equilibrium,
there is constant growth in all factors at the rate:

y=[B(1 =6+ Aa%(1 — )™

1/c

8.1.1 Differences in Initial Conditions in the A(k, h) Model

Properties:

1. This does not depend on initial conditions. So, if differences in levels in period
t are due to differences in kjs and/or h}s then the future growth rate will not depend

on the period t levels.

2. Interest rates on loans (e.g., consumer borrowing) would be given by

I+ R =1-6+r=1-0+Aa*(1—a)l™@

This does not depend on either initial conditions, or the current level of k;. So,
the observed interest rates should be the same for all observations.

8.1.2 A(k,h): Initial Conditions

Data Model
v =" 1.02 varied v =[B(1 -6+ Aa®(1 — a)l=2)]| /7
Y9 1 to 50 Y o K
L A
= ~ 0.6 ~ 0.67
. . i1l—a 11—
TFP =? varied TFP = L—ﬂ - [h@]l

2

no relationship

no relationship

i = —
Y1960 V8- V6005 =
7 [ —
Yigeo V8- Lt =7

no relationship? (risk)

1+ R =(1-6+A0"1—a)'™)

<L vs. y =7 corr(%,y) > 07 corr(¥,y) =0

Lys. yv=" corr(&,~) > 07 all countries have the same 4 and

U U U
Educ. vs. y="? corr(Ed,y) > 07? corr(h,y) >0

N, VS, Yy =7 corr(7,,y) <07 not defined

v, vs. v =7 corr(v,,v) < 07 not defined
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8.1.3 Differences in A’s (or ¢ or ¢) in the A(k,h) Model

This gives rise to higher growth rates and higher interest rates in the high A countries.
It also gives rise to higher accumulation in higher A countries, of both k& and h so it
gives a positive correlation between y's, v's, and h/y, k/y.

7= [B(1 = 6 + Ao (1 — o))

1+ RZ = (1 — & + Ai()éa(l — a)lfa)

8.1.4 A(k,h): A® Differences

Data Model
v =? 1.02 varied v =B =6+ Aia®(1 — Oé)l_a)]l/a
Ly 1 to 50 %= Lo, oo
Yy Y, ’Y'i Y.
uwn =7 ~ 0.677 ~ 0.67
. X i1l—a - 1—a
TFP =? varied TFP! = [TZ;{} = [hi]l
yi%o VS. Yeg_o5 =1 no relationship high yéo —> high Y4,_¢5

Yen Vs. RS =7 | no relationship? (risk) | 14+ R = (1 —§ + A;0%(1 — o)1)

£ s,y =7 corr(£,y) > 07 corr(%,y) >0
Lvs. y=? corr(%,v) > 07 corr(%,v) >0
Educ. vs. y="? corr(Ed,y) > 07 corr(h,y) >0
YV VS. Yy =" corr(,,y) <07 not defined
YV VS. Y =7 corr(y,,7v) < 07 not defined
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8.1.5 A(k,h): 6, Differences

Data Model
N =7 1.02 varied 7= 1B(1 = 8; + Aa(1 — o) ~)]'”
%o 1 to 50 4T, o
Yy Yy ’Y,,- Y.
am g ~ 0.677 ~ 0.67
. X i1l—a -
TFPi =? varied TFP! = {Tiﬁ'} = [hft]l
yfqm VS. Yeo_95 =7 no relationship high y}%n —> high Yg0_0os

Yigeo VS R: =7 | no relationship? (risk) | 1+ Ri = (1 —§; + Aa®(l — a)!™®)

£ s,y =7 corr(£,y) > 07 corr(%,y) >0
Lys. vy =" corr(£,7v) > 07 corr(£,~) >0
Educ. vs. y =7 corr(Ed,y) > 07 corr(h,y) >0
YV VS. Yy =" corr(7,,y) <07 not defined
Y, V8. ¥ =7 corr(v,,v) < 07 not defined
8.1.6 Differences in 3's in the A(k, h) Model
7= [,(1 =6 + Aa(1 =)'
1+ R =(1-6+Aa%(1—a)l7®)
8.1.7 A(k,h): ¢ Differences
Data Model
v = 1.02 varied v = [8;(1 =8+ Aa®(1 —~ a)l’o‘)]l/g
L9 1 to 50 ﬂ;":l%ﬂji‘%oo
Y; Yy iV
un 7 ~ 0.677 ~ 0.67
. . i1l—a - 1—a
TFP! =7 varied TFP; = %] = [ni]’
Viosn VS Ve o5 =" no relationship high ¢, = high Y40 5

g 7
Yoo VS R =7

no relationship? (risk)

1+ R =(1—6+ A1 —a)")

<L vs. y =7 corr(%,y) > 07 corr(Z,y) >0
Lvs. y=? corr(£,v) > 07 corr(£,~) >0
Educ. vs. y =7 corr(Ed,y) > 07 corr(h,y) >0
Y, VS. y =7 corr(~,,y) <07? not defined
Yy VS. Y =7 corr(y,,7) < 07 not defined

o4




8.1.8 Differences in ¢'s in the A(k, h) Model

Yi = [5(1 — 6+ Aaa(l _ a,)l—a)]l/o'i

1+ R =(1—6+Aa(1—a)™)

8.1.9 A(k,h): o Differences

Data Model
v =7 1.02 varied v=[B1-6+Aa(1— 04)1_a)]1/ai
L9 1 to 50 L2 o
Ui Yy ’Yq' Yy
wn =7 ~ 0.677 ~ 0.67
. . iql—a .
TFP =? varied TFP} = E‘l = [hi]l_a

i = _
Y1960 VS- V095 =7

no relationship

high yé, = high 34 ¢

) 7
Yoo VS I =7

no relationship? (risk)

1+ R =(1-6+Aa%*(1—a)'™)

I ys. y =7 corr(&,y) > 07 corr(%,y) >0
Lvs. y=" corr(£,v) > 07 corr(£,7) >0
Educ. vs. y =" corr(Ed,y) > 07 corr(h,y) > 0
v, vs. y =" corr(,,y) <07 not defined
N VS, Yy =7 corr(Y,,vy) < 07 not defined

8.2 Adding Fiscal Policy to the A(k, h) Model

New version of the model, TDCE only:

Here the equilibrium version of the model is:

An equilibrium is:

a sequence of prices: {(p¢, 1, we) }22,

Quantity decisions for the households: {(c;, k¢, hy, Tie, Tpy) 1520 = 212

Quantity decisions for the output firms: {(¢f, zf,, i, kI, 20)}se, = 2/,

SUCH THAT:

1) zH is the solution to:
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Max (e, koo an) 2o U((€)20)

subject to:

Citopela + wre + xne) < 220 [(1 — Tre)reke + (1 — Tre)wihe + T4 + 11
ki1 < (1 —0p)kt + Trt

hivr < (1= 6n)he + Tpe

(ho, ko) fixed.

2) z/ is the solution to:

f f f f f
Max{(c{,a;gt,m;jt,k{,zf)}ggo 270 {pt(ct + Ty + Tpy) — Teki — Wiz

subject to: ¢ + xit + x{n <A (k{)a (Z{)l_a-

AND

gt—i-Ct:C{

IT =332, {pt(C{ +afy + of,) — k] — wtzﬂ
i pege + Ti) = 2o [Trerike + Toewihe]

NOTE: What if taxes were on UNDEPRECIATED capital instead? L.e., T'ax; =
Tt(T't — 6)]{313?

Assuming that U(c) = 3, 'u(c;), we have:
pe = B/ (c) /8% (cp), and 7, /p, = A for all t.

As you have seen in the past, and assuming that u(c) = ¢!=/(1 — ), this model
features the two Euler equations:
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(EEK)  [%2]" = B[1— 6 + (1 — 73:) Fu(ks, )], and

(EEH)  [2=]" = B[1 — 6+ (1 — ) Fa(ke, 21)].

Thus,
B1— 6+ (1= 7p) Fr(ky, )] = B[1 — O0p + (1 — 73) Fa(ky, )], or,
(1 — Tk)Fk(kt, Zt) — (Sk = (1 — Tn)Fszt, Zt) — (Sh.

There is typically a single k/z ratio satisfying this constraint since the LHS is a
decreasing function of k/z and the RHS is an increasing function of k/z.

For example, assuming that F(k,2) = F(k,h) = Ak*h'~® and that &, = Ok, we
see that in this case (1 — 74)Fy(ky, 2;) = (1 — 7,,) F,(ky, ;) for all ¢ which reduces to:

—

%‘ = l=eloma for g]] ¢
t 1-7%

?|

on any interior path. We’ll assume that there is no issue about non-negativity of
either zx and zp. (This is an assumption about (hg, ko).) Given this, we have that
F, is given by:

Fk(l{?t, ht) = CYF(,ICt, ht)/kt

=adk i =ad [k] T = aaim] T = den( -0 2]

1—Tk 1—Tk

Substituting this end we find that, in any interier equilibrium:

S

ct 1—7p

=61 =6+ (1= 7K1 — 7)™ Aa*(1 — a)'~] for all ¢.

Since the RHS does not depend on ¢, it follows that in any interior equilibrium,
there is constant growth in all factors at the rate:

v =[BL =8+ (1= 7)*(L = 7,)" " Aa®(1 — )]
This simplifies to:

y=[B[1= 6+ (1 — P)Aa(1 — ) o]/”
when 7, = 7.

This is decreasing in each tax rate. Alternatively, it is decreasing in 74 and is also
lower (higher) when i;_:: moves below (above) 1. So, there are effects of both the
'level’ of taxes, and the composition of taxes.
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8.2.1 The Effects of Taxes in the A(k,h) model

Properties:

1. This does not depend on initial conditions. So, if differences in levels in period
t are due to differences in k}s and /or hjs then the future growth rate will not depend
on the period t levels.

2. Interest rates on loans (e.g., consumer borrowing) would be given by
1+ R =1-6k+(1—7k)°%1 — 7o) 7 2Aa*(1 — o)1

This does not depend on either initial conditions, or the current level of (hs, kt).
So, the observed interest rates should be the same for all observations.

This reduces to:
1+ R =1-06k+ (1-7)Aa*(1 — )™
ifrg=71n=r1.
3. However, if bl = hi, ki = ki and 72 = 7% =70 < 77 = 7% = 7% and 1960 # 0
(i.e., time doesn’t start in 1960), then yigs, > ¥igso and 7* > 7%. So, it the only

difference in countries is in tax rates and these are PERMANENT, we should see a
pattern between y;44, and 7"

4 FFIAHFEHK There is not a pattern to measured, before tax, interest rates however,
since these are given by

I+ R =1-6+(1—7)%1 — 7)) *4a%(1 — )™

Is this right?

8.2.2 A(k,h): Tax Policy Differences

Th =Th=T
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Data Model
v =7 1.02 varied v, =81 =6 + (1 — 1) Aa*(1 — oz)lfa)]l/m
ﬂf— =? 1 to 50 - lt:}ij — 00
u} Y Y
wn —7 ~ 0.677 ~ 0.67
: T—a o
TFP! =? varied TFF = [%] "= [n)!
_ ny
Yioso VS Yeo—95 ="' no relationship high y&, = high Y50 ¢
Yigeo vs. Ri =7 | no relationship? (risk) | 1+ Ri=(1—6+ (1 — TZ)Aaa(l —a)l™)
Lys. y="7 corr(¥,y) > 07 corr(¥,y) >
2 s,y =7 corr(£,~) > 07 corr(£,v) >
Educ. vs. y =7 corr(Ed,y) > 07 corr(h,y) > O
Yy VS. Y =7 corr (v, y) < 07 not defined
N, vs. vy =" corr(,,7y) < 07? not defined

8.2.3 The Effects of Productive Government Spending in the A(k, h) model

what exercise?

1. gs to h? ie., hyyy < (1—06p) + xps + gy, with pgy =

Is there a neutrality result for this one?

or

2. subsidize h? i.e., T.p < 0 with T}

T} for all periods?

= DiTahtTht!

Here, we should see h go up. This should increase growth, but perhaps decrease

welfare.

What is the definition of equilibrium in this setting?

Set it up to allow for both:
New version of the model, TDCE only:
Here the equilibrium version of the model is:

An equilibrium is:

29



a sequence of prices: {(ps, rs, wy) 122

Quantity decisions for the households: {(c;, ks, by, Tpe, ) 1520 = 271H

Quantity decisions for the output firms: {(cf,zl,, zl, kI, 2[)}2, = 2/,
SUCH THAT:
1) zHH is the solution to:

Max (e, koo an) 2o U((€)20)

subject to:

Yopela +xee + (1 + Taone)xm) < Ypog [k +wihy + T + 1T
ki1 < (1 —0p)ke + Tre

hi1 < (1 - 5h)ht + Th + gt

(h(), ]{50) ﬁxed.

2)  2f is the solution to:

f f f f f
Max{(c{,xﬁt,mﬁt,k{,Zic)}?io 220 {pt(ct + Ty + Tpy) — Teki — wezy

subject to: c{+ g;{t + x{n <A (k{)a (z{)l_a‘

AND
Ct = th
Ty = Iit

gt + Tp = x{zt

ky = ki

hy = th

=532 |pilel +aly + ) —rik —wied

Yilpge+ T =0
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Assuming that U(c) = ¥, f'u(c,), with u(c) = ¢!=7/(1 — o), the FOC’s for the
HH problem are:

e Bluc(t) = A

kit : Alresr = pe+ (L= 6k)peya] = 0

hisr AMwepr = (L4 7an)pe + (1 + 72n) (1 = 64)prsa] = 0
OR

ket : pt = [re+1 + (1 — Ok)prta]

iy Pe(1+ Ton) = [werr + (1 + Ton) (1 — 0n)pr]

OR

ki : Pe = Pey1 [Fe(t +1) + (1 = 63)]

hita - Pe(1+ Tan) = pega [Fr(t + 1) + (1 + 72)(1 — 65)]
hiy Pt = Pt+1 [m Fu(t+1) +(1 - 5h)}

Substituting for p; from above gives:

R[22 = BIR(E+1) + (1 6)]
he s [2=2]7 = B[Rt 1) + (1 - 6n)]

Notice that this is just EXACTLY the same as what we had in the section above

on taxes where 7, =0 and (1 —7,) = (1+1T 5

Thus, assuming that éy = 0, and that the production function is Cobb-Douglas,
we see that we get:

T {6 [1 ot [y A1~ a)l_a” "

Note that ~ is decreasing in 7., and hence a subsidy increases 7.
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8.2.4 A(k,h): Government Spending Differences

1. gt to h?ie., hipyr < (1 —6p) + Tht + ge, with prge = T} for all periods? This
should be completely neutral I believe, that is, just lower z;; by g;.

This one should be COMPLETELY NEUTRAL as long as it is not above the
privately chosen rate of xp. If it is, it will have effects of increasing growth and

income.
or
2. subsidize h? i.e., T, < 0 with T}, = pyT o The!
Data Model
l—a 1
v =7 1.02 varied Vi = [B {1 — 0 + {(ITIM)] Aa®(1 — a)lD‘H
¥ —7 1 to 50 Yoo LY o
Y Yy Vi Y
v =7 ~ 0.677 ~ 0.67
R . i1 l—« 11—
TFPi =? varied TFP =2 =n)

i - _
Yio60 VS- V6095 ="

no relationship

_ high yjy = high Y495

Yigo vs. R: =7 | no relationship? (risk) | 1+ R = |1— 6.+ {m}l—a Aa®(1l — a)l-@
Lvs. y=" corr(£,y) > 07 corr(£,y) > 07
2 vs. y =7 corr(%,7) > 07 corr(%,v) >0
Educ. vs. y =7 corr(Ed,y) > 07 corr(h,y) > 0
Y VS. Y =7 corr(y,,y) < 07 not defined
Y VS. 7 =" corr(v,,7) < 07 not defined

8.2.5 A(k,h): Monetary Policy Differences

>Kkokok ok ok sk ko sk oskokokok sk ok sk skok ok ok skok sk ok sk kok ok
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8.2.6 The Effects of Monetary Policy in the A(k, h) model

8.3 Alternative Technologies for h Accumulation

Learning by doing, public/private, firms and IRS

LBD as perfect complements, standard A(k,h) as perfect substitutes, things in
between?

It’s easy to imagine alternative, reasonable models of the formation of human
capital:

1. Suppose that there is learning on the job, i.e., other things equal, you get
more h if you work more. This can be captured by:

hi < (1= 0p)hy + Gz, 24)
where 2z = nihy as an example. If G(z,2) = Agr®¢2z!72¢ then ag = 1 is the
example above, and ag = 0 says that z; does not affect the accumulation of h, only
work experience does.
Alternatively, one could adapt the output sector instead:
max(ct —I—l’kt, tht) S F(]{It, Zt)
and

hiyi < (1 —6p)he + e

would give knowledge accumulation proportional to output by assumption. This
is the opposite extreme to our base case. In the base case, we assumed that output
for ¢+ xx and xj are perfect substitutes. This makes them perfect complements. But,
once we've said that other alternatives come to mind:

0(c; + 240)? + (1= 0)2f,]"? < F(ky, )
higg < (1—=06p)he + xps
with p > 1.

is the most obvious generalization that nests both of these extreme cases. And
then sensible discussions can be had about the alternatives: Is new worker ability a
substitute for, or a complement to the production of output?

63



2. The second obvious kind of qualitative change that one might make is to
formally include a separate sector for the production of Education. In this case, the
feasibility restrictions would look something like:

o +aw < F(K, 2)

T < G(KP, 27)

k) + ki <k

2 42 < =iy
and

hiy1 < (1 —6p)he + xhe

Obviously, our base care corresponds to the aggregation assumption that F' = G
but other possibilities could be explored. Of particular interest is allowing for the
possibility that G is more labor intensive that F' is, with the idea being that one of the
key inputs into G is the time of the students. Thus, something like F'(k, z) = Ak®z1~2
and G(k,z) = A"k"2177 with n < o would be called for.

One has to be careful with this. This is not the same as having 2 kinds of labor in
the production function, one ’skilled’ i.e., teachers, and one 'unskilled’, i.e., students,
and to do this would require some careful thinking about the relative productivity of
students and teachers with their time aggregated according to opportunity costs (i.e.,
output sector wage rates). It also is not the same as doing a more detailed model
with people of different ages in which the young are students and the old are teachers.

Each of these alternatives (or both) brings with it some special considerations with
respect to the tax code. For example, in the first: Is x; part of the compensation of
workers? L.e., one of the things that workers take away from the job at the end of the
day is the new knowledge that they have accumulated from working. Should this be
modelled as a market transaction with the income flows taxed at income tax rates?
Or is this a non-market transaction?

Similarly with the second approach, is the second sector taxed at all? Is the time
of students taxed? Etc.
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8.4 A(k,h) Models, Elastic Labor Supply

Here, the equilibrium version of the model is:
What should the utility function be?
max S Blu(ey, 4)
OR

max > Bu(cy, behe) 77777
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9 Individual Heterogeneity Within a Country

There are a continuum of households indexed by i € [0,1] and a continuum of firms
indexed by j € [0,1]. They are all identical, the households have the same utility
functions, initial endowments and labor supplies. The firms all have the same tech-
nology. For simplicity, we will assume that each consumer has an equal share in each

of the firms.

An equilibrium is:

a sequence of prices: {(p¢, 1, we) }32,

Quantity decisions for the households: {(cit, kit, Tikt, Lit, nit) } 520 = 2511
Quantity decisions for the output firms: {(cft, xf v K n;;)}?io = ij :

Jts

SUCH THAT:

1) For each i € [0, 1], 2 is the solution to:

Maz (e, ko geeinmmeemni fa)yz2g 2ot B w(Cit, Lit) or Y Bu(cit, Lihit)
subject to:

Y20 P [Cit + Ty + Tane] < 220 [rekir + Wiz + 11

ki1 < (L= 6p)kis + Tigs

hity1 < (1 = 6n)hit + Gi(Zint, hit, Nhit)

25 = Nmithit

Nomit + Nt + Ly <1,

(hio, ko) fixed.

Here, n,,; is the amount of time working in the market, while, n;;; is the amount
of time devoted to ’learning’ or, augmenting one’s own stock of human capital. It’s
natural to assume that Gi(Zint, hit, nhit) = Gi(Tint, 2hit), Where zpie = npithie is the
quantity of ’effective’ labor used in learning. This would make it symmetric with
the formulation above with respect to effective labor in the market activity. Simi-
larly, putting ¢;;h;; in the utility function makes this quality adjusted hours affecting
utility. This has some technical advantages over the alternative of /;; entering the
utility function, since then the problem can be reformalized as a standard concave
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maximization problem. This is, or course, irrelevant in the inelastic labor supply
version.

2) For each j € [0,1], zjf is the solution to:

MCW{(c]f, od ot kT 2Ty Dpad [pt(CL + mfkt + xj'cht) - rtk]ft - wtzft}

Uikt eV 1% 5t

subject to: cft + xfkt < F<k]ftv th)-

AND
Iy cindi = [ chydj
Jy wiedi = J§ <y
Jo kadi = [o Kf,dj
Jo nadi = fy nydj
Jo Widi = J§ 2 |pe(cly +why) — rikly — wind,| dj
K, = [y kldj

As is standard, in this formulation, we will, for each HH get 2 Euler Equations
governing the dynamics of individual savings/investment decisions. For simplicity,
we assume that labor is inelastically supplied. In this case, we have:

(EEK)  [2=]7 = g1 - 6) + 2]

Cit Pt41

Since the right hand side of this equation does NOT depend on ¢, it follows
immediately that the growth rate of consumption is the same for all households.
Note that this depends on the assumption that both ¢ and 3 are the same for all
households.

Similarly, there is an EE for the accumulation of h:

(EEH)  [2=]" =3[«

FILL IN WHAT x; IS!

Since the LHS doesn’t depend on ¢, it follows that the right hand side doesn’t
either. I.e., The natural condition holds, all investments by all individuals in all assets
(both physical and human capital) are, in equilibrium equal to a common interest
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rate, which can be thought of as the implicit interest rate on loans to consumers for
consumption loans,

LR = ]
MOSTLY CONJECTURES BELOW HERE:

In some simple cases, one can go further. For example, suppose G; = xp;; for all

Conjecture 4 In this case, the system is always on the BGP after periodt =1, with
ﬁ,":‘f = v where v7 = B[l — i + Fi]. Note that Fy doesn’t depend on j (since it is
the common p for all j). (Does this implicitly ignore non-negativity constraints?)

If this is right, then not only is it true that consumption growth is equal across all
households, productivity growth is also equal across all households. So, the picture is
that some households are initially 'richer’ than others, they have higher initial levels
of ¢ and this "advantage’ persists indefinitely.

What about a more general form of accumulation in which G; = B;x],(ng; by )17

Conjecture 5 If B; = B for all i, the conjecture still holds. Maybe even for CRS
Gs that are identical across households?

What is TFP in an economy like this?

T Tkl ] ™

Note that there is implicitly a GNP accounting assumption here. This is that
none of the np; is counted in hours in the data (as it might be if np;; were training
received while at the workplace). Making the standard assumptions that there is a
representative firm with a Cobb-Douglas productin function, F(k, z) = Ak®z!= we
get:

e = Afy kaedi)™ [ zmardi] ™ = A[fy kadi]® [y nmihiedi]'

Thus, we have:

[e7

_ A[[I kitdda[[r nmithitdi]17 _A[[rnmithiidi].m

TFP, = o 5 = = —r— = —
S R T [y rmnd] ™
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This is kind of a mess unless n,,;; doesn’t depend on 7. I think that would hold
under either of the Conjectures given above, but have not tried to show it. Assuming
that this is correct we get:
nmt [, hitdi] o7 . A[Inmt}_lt]

[I12n4] &7 o (7] 07

TFPt:A[

.67 4 Vlt]m

where h; = Jj I; hidi.

An interesting question would be how does all of this analysis change if B; is
NOT independent of 7. This would be a way to capture the idea that some people
are 'better learners’ than others. (Or any other kinds of differences across G, e.g.,
G; = O;xpii.) In this case, would it still be true that n.,; and n; are independent of
1 for example? Or would a planner optimally choose to have good learners do most
of the h accumulation? (And hence it would also occur in equilibrium...)

Although these are interesting discussions that allow us to get closer to some of
the applied labor literature, it is not clear how (or IF'), these considerations affect our
tables.
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